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b (v):=|f1(v)-£2 (v
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I = I f x dydx=205.055087
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S (x0):=

vsec x max £4(x)
ans := xdydx
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by(x]::|f3(x)_f4(x)|
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A:=1.10
(DyHKLU/IOHaJ'II:HaH 3aBUMCYMMOCTE 1JId BHEHUYMCIIEHUA (DyHKLU/IOHaJ'II:HaH 3aBUMCYMMOCTE 1JId BHEHUYMCIIEHUA
KOS(D(I)I/ILU/IGHT& HepaBHOMEPHOCTHM KacCaTeJIbHBIX KOS(D(I)I/ILU/IGHT& HepaBHOMEPHOCTHM KacCaTeJIbHBIX
HaNpSKEeHUII OTHOCUTEJIBHO ocu X HaNpSKEeHUII OTHOCUTEJIBHO ocu X

0 if b (y)<4 0 if by(x)gA
k V)= k X )=
SX ( ) stec (y) . sy ( ) Sysec (X) .

b— otherwise b— otherwise

« (V) y (%)

use "Ignore units" for K.x & K.y. Just check please if 2.69 and 1.89 are correct values.

KosdduLMeHT HEepPaBHOMEPHOCTM KacaTeJbHBIX KosdduLMeHT HEepPaBHOMEPHOCTM KacaTeJbHBIX
HalpSXeHUM OTHOCUTEJIBHO ocu X HalpsSXeHUM OTHOCUTEJIBHO ocu Y
y max £2 ( x_max £4 (
| J’ Jaxdy | J’ Xy dx
I, ym1nf1(y Xm1nf3(
KX=2.692127 Ky=1.893565
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vertZu:reverse(vert2)
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